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Indexed Test Cases

. 40ge2p1xI710-ethipdipsecbasetnl-ip4base-int-aes-gcm

. 40ge2p1xI710-ethip4ipsecbasetnl-ip4base-int-cbc-shal

. 40ge2p1xI710-ethip4ipsecbasetnl-ip4base-tnl-aes-gcm

. 40ge2p1xI710-ethipdipsecbasetnl-ip4base-tnl-cbc-shal

. 40ge2p1xI710-ethip4ipsecscalel000tnl-ip4base-int-aes-gcm
. 40ge2p1xI710-ethipdipsecscale1000tnl-ip4base-int-cbc-shal
. 40ge2p1xI710-ethipdipsecscalel000tnl-ip4base-tnl-aes-gcm
. 40ge2p1xI710-ethip4ipsecscalel000tnl-ip4base-tnl-cbc-shal
. 40ge2p1xI710-ethipdipsectptlispgpe-ip4base-cbc-shal
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